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10.

11.

2018 Tnpsc Indian Economy Questions In English

The crypto currency launched by Venezuela in 2017 is

(A) Ethereum (B) Ripple (C) Petro (D) Litecoin

India’s first Antidiabetic Ayurvedic drug launched by CSIR is called

(A) MST -2 (B) MAT -1 (C) XMU — MP (D) BGR 34

What is India’s rank in the 2017 Global Hunger Index (GHI)?

(A) 100™ (B) 111* (C) 115" (D) 119"

The 2017 International Day for the Eradication of poverty (IDEP) is observed on which date?
(A) October 18™ (B) October 17 (C) October 16™ (D) October 19

India ranks in which position in Global Innovation Index 2017?

(A) 60" (B) 10" (C) 14" (D) 1000™"

Which e-commerce company has tied up with Union Ministry of textiles to promote handloom
industry in October 20177

(A) Myntra (B) Home shop 18  (C) Amazon (D) India Times

The Essential Commodities Act was enacted in India in the year

() 1950 (B) 1951 (C) 1953 (D) 1955

The global centre for cyber security to be operational from March 2018 head quartered in
(A) California (B) Geneva (C) Washington (D) New York

The tax system in which both tax rate and tax base are positively related

(A) Proportional Tax (B) Progressive Tax

(C) Regressive Tax (D) Degressive Tax

When was National Planning Commission set up by Central Government?

I. March 1947 I1. March 1948 [11. March 1949 IV. March 1950
(A) 1 only (B) Il only (C) Il only (D) IV only
The total oil seeds production in India was mn. tonnes in the year
2016-17.
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12.

13.

14.

15.

16.

17.

18.

(A) 32.10 Mn. tonnes (B) 35.10 Mn. tonnes
(C) 36.20 Mn. tonnes (D) 35.80 Mn. tonnes
Union Government estimated that the fiscal deficit was expected to decline to percent

of GDP in 2017 — 18 Budget.
(A) 2.9 percent (B) 3.0 percent (C) 3.2 percent (D) 3.5 percent

Arrange the following stages in the enactment of Budget in proper order.

1. General discussion 2. Appropriation Bill

3. Finance Bill 4. Voting of the Demands for grant

5. Presentation to legislature

(A 1,23, 4,5 (B)5,1,4,2,3 (C)5,1,4,3,2 (D)5, 1,3, 4,2

Which one of the following is the traditional small industry?

(A) Sugar industry (B) Steel industry

(C) Khadi and handloom (D) Jute industry

In which year, a world-wide, human rights organization was established?

(A) 1961 (B) 1971 (C) 1981 (D) 1991
Which country emerged as India’s 3" Largest supplier of crude oil in 2014-2015?
(A) Russia (B) Venezula (C) Saudi Arabia (D) Lybia

When was “Make in India” launched by Government of India?

(A) 26 January 2014 (B) 25 September2014
(C) 25 December 2014 (D) 26 October

Match it.

(a) Basic goods 1. Cycle, refrigerators

(b) Capital goods 2. Plywood, pipe

(c) Consumer goods 3. Fertilizers and chemicals

(d) Intermediate goods 4. Machineries, engineering goods

@ @O @© (©
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19.

20.

21.

22.

23.

24,

25.

A 4 3 2 1
B 3 2 1 4
© 2 3 4 1
o 3 4 1 2

What is the name of the scheme for socio-economic development and empowerment of women
through self help groups?

(A) Janani Suraksha (B) Swayam Sidha
(C) Ganga Kalyan Yojana (D) Sarva Shiksha Abhiyan

Indian Space Research Organization (ISRO) successfully launches an earth observation satellite
CARTOSAT-2 during the year

(A) August 2016 (B) June 2016 (C) October2016 (D) July2016
Among these which is not the functions of commercial bank

(A) Accepting the deposits

(B) Advancing of loans

(C) Bankers agent and advisor to the government

(D) Creation of money or credit

The Indian National Trust for art and cultural heritage celebrates Heritage Week in every year
between

(A) 191 — 25" September (B) 19" — 25" October

(C) 19" — 25" November (D) 19" — 25" December

During the year 2018, in Tamil Nadu the hike in bus fare was reduced partially and implemented on
(A) 29" January 2018 (B) 20" January 2018

(C) 27" January 2018 (D) 24" January 2018

Which satellite was carried by GSLV-F08 launched by ISRO?

(A) GSAT - 6A (B) GSAT - 6B (C) GSAT - 7A (D) GSAT - 6C

In which year “Project Tiger” was launched?

(A) April1971 (B) April 1972 (C) April 1973 (D) April 1974
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26.

27.

28.

29.

30.

31.

32.

33.

34.

Government declared that those who earned Rs. 10 lakhs per year will be ineligible for LPG subsidy
from?

(A) Jan. 2015 (B) Jan. 2016 (C) Jan. 2017 (D) Jan. 2018

The Headquarters of World Trade Organization is in

(A) Geneva (B) Montreal (C) Seattle (D) Washington DC
Indian State Financial Corporations have given assistance mainly to develop

(A) Small — Scale Industries (B) Medium — Scale Industries

(C) Medium and Small Scale Industries (D) Irrigation projects

In India, bank notes of value Rs. 500 and Rs. 1,000 were withdrawn from on the midnight of
(A) 5" November 2016 (B) 8™ November 2016

(C) 10" November 2016 (D) 15" November 2016

According to 2011 census, the density of population in India is

(A) 382 persons per sq km (B) 324 persons per sq km

(C) 267 persons per sq km (D) 117 persons per sq km

14 major banks were nationalized in India in the year

(A) 1949 (B) 1959 (C) 1969 (D) 1968

Open market operations of RBI refers to

(A) Buying of eligible securities (B) Selling of eligible securities
(C) Buying and selling of eligible securities (D) The control of money circulation
Which of the following is the determinants of population growth?

(A) Agriculture and industrial revolutions

(B) Improvements in medical care

(C) Protection from the natural calamity

(D) All are correct

The literacy rate in India in 1991 was

(A) 75.85 (B) 54.16 (C) 65.38 (D) 52.10
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35. Name the economists who got the first Nobel prize for the econometrics

(A) Marshall and Samuvelson (B) Ricardo and Knight
(C) Kicks and Dalton (D) Jan Tinbergen and Ragnar Frisch
36.  “The laws of economics are to be compared with the laws of tides rather than with the simple and

exact law of gravitation’ by
(A) Marshall (B) Adam Smith (C) Keynes (D) Ricardo
37.  Which one of the following is not included in the National Air Quality Index?
(A) Sulphur (BO Nitrogen di oxide (C) Lead (D) Methane
38.  The first Indian Communication satellite put in geo-stationary orbit is,
(A) PSLV (B) Aryabhatta (C) APPLE (D) Rohini
39.  What is the contribution of India towards the world mica production?
(A) 40% (B) 60% (C) 66% (D) 50%
40. In recent times unaccounted money has been used for financing dealings.

(A) Transaction (B) Precautionary (C) Speculative (D) Cheap money

41. is sometimes recommended as a remedy for depression.
(A) Creeping inflation (B) Cost push inflation
(C) Price control (D) Wage cut
42.  Match it:
(a) Prof. Dimock 1. Budget
(b) Prof. Fisher 2. Public finance
(c) Prof. Seligman 3. Equation of exchange
(d) Prof. Dalton 4. Tax

@ ® (@© @
A 1 3 4 2
® 1 2 4 3
© 3 1 2 4

Learning Leads To Ruling Page 5 of 22



http://www.winmeen.com/

Indian Economy Prepared By www.winmeen.com

43.

44,

45.

46.

47.

48.

49,

50.

51,

52.

53.

(D) 4 3 2 1

Setting up of national clean development mechanism authority as per

(A) Kyoto protocol (B) Coastal regulation zone

(C) National chemical management (D) National environmental policy
Direct Democracy exists in

(A) USA (B) India (C) Portugal (D) Switzerland

In which year ISRO’s Polar satellite Launch Vehicle C36 (PSLV — C36) successfully launches
RESOURCES AT-2A remote sensing satellite into polar sun synchronous orbit?

(A) 2015 (B) 2016 (C) 2017 (D) 2018
This Company filed patent applications relating e-Currency technology recently
(A) Barclays (B) IBM (C) Google (D) Facebook
IUCN headquarters is at

(A) Morges, Switzerland (B) Paris, France

(C) Vienna, Australia (D) New York, USA

Which scheme is launched for the simplified and transport administration of registration department
in Tamil Nadu?

(A) STAR 1.0 (B) STAR 3.0 (C) STAR 1 (D) STAR 2.0
Which year, the first Radio programme was broadcast by the Radio Club of Bombay?
(A) 1920 (B) 1923 (C) 1925 (D) 1927

‘She Means Business” programme for women entrepreneurs launched in which state?
(A) Karnataka (B) Odisha (C) Kerala (D) Tamil Nadu
India witnessed the Goods and Services Tax (GST) is introduced on

(A) 1% June 2017 (B) 15t July 2017 (C) 5™ July (D) 5™ June 2017

How much grant provided by India to Seychelles in the field of development assistance during the
year 20157

(A) US $ 6.5 million (B) US $ 4.3 million (C) US $3.6 million (D) US $ 1.2 million

When did the ISRO launch the GSLV-F08 rocket with GSAT-6A satellite?
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54.

55.

56.

S7.

58.

59.

60.

(A) 29 April 2018  (B) 29 March 2018 (C) 28 February 2018 (D) 29 January 2018
When was the policy “National Mineral Exploration Policy’ launched?

(A) July 2016 (B) June 2016 (C) August 2016 (D) May 2016
“Ever increasing state activities” is the law of

(A) Pecola-Wiseman (B) P.A. Musgrave  (C) J.M. Keynes (D) Adolph Wagner
The plan outlay for industrial sector during the first plan in India was

(A) Rs. 55 crore (B) Rs. 550 crore (C) Rs. 97 crore (D) Rs. 425 crore

Which reference to World Bank estimate, what is the share of service sector in total employment in
India during 2017?

(A) 44% (B) 25% (C) 31% (D) 33%
In planning, the slogan of “Garibi Hatao” refers to

(A) Removal of poverty (B) Economic growth

(C) Inequalities of Income and Wealth (D) Self attainment

Arrange the pattern of industrial growth in India correctly

1. Intermediate goods 2. Basic goods
3. Capital goods 3. Consumer goods
(A)3,1,2,4 B)2,1,3,4 ©)3,2,4,1 (D) 2,3,4,1

Match the following:

Revolution Production
(a) Black Revolution 1. Prawns, Onions
(b) Grey Revolution 2. Cotton
(c) Pink Revolution 3. Petroleum production
(d) Silver fibre Revolution 4. Fertilizers

@ ® (© (@
(A 1 2 3 4
(B) 4 2 1 3

(C) 3 4 1 2
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61.

62.

63.

64.

65.

66.

67.

(D) 3 4 2 1

In India, present trend of rapid urbanization is due to

(A) Influence of cinema and electronic media

(B) Break — up of Joint family system

(C) Abolition of zamindari system

(D) Lack of employment opportunities in rural areas

National income of a country can be calculated by

(A) 2 methods (B) 3 methods (C) 4 methods (D) 5 methods
According to 2011 population census, total population in India is,

(A) 880.8 million (B) 975.8 million (C) 1210.2 million (D) 843.8 million
national Service Schemes was launched in the year

(A) 1965 (B) 1966 (C) 1968 (D) 1969

The Human Resources Development is a composite index of each country is

(A) Health Status, Education, Per Capita GDP

(B) Health Status, Education, Per Capita GNP

(C) Health Status, Education, Per Capita NNP

(D) Health Status, Education, Per Capita NDP

The most important small scale industry in India is the Industry

(A) Textile (B) Paper (C) Jute (D) Handloom

Match the Nation with their currency:

() Vietnam 1. Kyat
(b) Spain 2. Dong
(c) Cuba 3. Euro
(d) Myanmar 4. Peso

@ () (© (@
(A) 3 2 1 4
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68.

69.

70.

71.

72.

73.

74.

(B) 2 3 4 1
(C) 3 4 2 1
(D) 4 3 1 2

CAN, Europe has reported Denmark as the best performing nation followed by Sweden. What is
CAN and what for it has ranked the countries?

(A) Central Authority for Nations, for high literacy rate

(B) Committee of Network of Knowledge, for high literacy rate

(C) Cyber Advanced Network, for low cyber-crime rate

(D) Climate Action Network, for low CO2 emission

Who can issue one rupee note of India?

(A) Reserve Bank of India (B) State Bank of India

(C) The Ministry of Finance (D) Public Finance Authority

Goods and Services Tax (GST) introduced in India on

(A) 8 November 2016 (B) 1 July 2017

(C) 8 July 2017 (D) 15 July 2017

Gene map can be constructed on the basis of the study of the following:

(A) Seggregation (B) Dominance

(C) Percentage of crossing over (D) Independent assortment

The total number of Public Sector Enterprises (PSEs) had signed MOUs for the year 2008 — 09 were
(A) 120 (B) 122 (C) 125 (D) 126
What is an all inflation rates based on SPI during the year 2015 — 2016?
(A) 4.91 (B) 5.93 (C) 9.44 (D) 9.90
What is the name of the E-enabled project launched by Indian Railways?
(A) Project Management and Internet Services (PMIS)

(B) Project Management and Information System (PMIS)

(C) Project for Railway and Information System (PRIS)
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75.

76.

77.

78.

79.

80.

81.

82.

83.

(D) Project for Railway and Internet Services (PRIS)

Global competitiveness report is published by

(A) World bank (B) International Monitory Fund

(C) World Economic Forum (D) UNCTAD

The factors which influence Indian Economy’s development are

(A) Economic and Non-Economic factors

(B) Social and Industrial factors

(C) Technological and Communications factors

(D) Human factor and Mechanical factors

During the 11" Five Year Plan Indian GDP increased by

(A) 5.4% (B) 7.9% (C) 7.6% (D) 7.8%
What did the Indian Planning Commission strongly recommend for the agricultural sector?
(A) Government should invest more in agriculture

(B) Government should invest less in agriculture

(C) Government should invest moderately in agriculture

(D) Government should not invest in agriculture

A Delhi govt official bags WHO award for his extraordinary contribution towards
(A) Tobacco control (B) Eco control

(C) Traffic control (D) Service for differently abled

Which of the following is India’s first-energy efficient railway station?

(A) Mumbai (B) Thane (C) Delhi (D) Kacheguda
Panini Language Laboratory is inaugurated at

(A) Malddives (B) Mauritius (C) Madagasgar (D) Myanmanr
When was the Tamil Nadu industrial guidance and Export promotion Bureau established?
(A) 1991 (B) 1990 (C) 1989 (D) 1992

As per census 2011 there were lakh disabled persons in Tamil Nadu.
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84.

85.

86.

87.

88.

89.

90.

91.

92.

93.
Learning Leads To Ruling

(A) 24.34 lakhs (B) 23.28 lakhs
Where was G7 summit held?

(A) Montreal (B) Quebec

Prepared By www.winmeen.com

(C) 16.42 lakhs (D) 20.18 lakhs

(C) Paris (D) Washington

The Reserve Bank of India was established by the

(A) The Act of 1919

(C) Indian Independence Act of 1947
Expand NSC

(A) Natural Seeds Corporation

(C) National Seed Corporation

(B) The Act of 1935

(D) Indian constitution

(B) National Social Committee

(D) National Social Control

The discount is always on the

(A) Market price  (B) Cost price (C) Selling price (D) Interest

= Market price — Discount.

(A) Cost price (B) Selling price (C) List price (D) Market price

In India, carbon tax is imposed on
I11. Coal

l. Gas 1. QOil

(A) 1 only (B) 111 only (C) Il and I (D) land 11
Which of the following is not a service?

(A) Communication (B) Banking and insurance
(C) Agriculture (D) Transportation

As on March 31, 1990, the growth of investment in public sector in monetary terms was
(A) Rs. 75, 860 crores (B) Rs. 68,991 crores
(C) Rs. 86,000 crores (D) Rs. 89,000 crores
The major method of disinvestment used in India is

(A) Open auction sale (B) Public offering

(C) Strategic sale (D) Coupon method

Which of the following is called as ‘King of Oil seeds’?
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94.

95.

96.

97.

98.

99.

100.

101.

102.

103.

(A) Olive (B) Castor (C) Groundnut (D) Sesame
In which year GST was introduced?
(A) 2016 (B) 2017 (C) 2018 (D) 2015

In which year was the New population policy announced in India?

(A) January 15, 1978 (B) October 18, 1979

(C) April 16, 1976 (D) July 16, 1990

The monthly average wholesale prices Index number is the 2011 — 12 is [as base 2004
—05=100]

(A) 156.1 (B) 143.3 (C) 130.8 (D) 116.6

In which country, Forint currency is used?

(A) Hungary (B) Iceland (C) Guyana (D) Haiti
When was demonetization announced in India?

(A) December 31, 2015 (B) November 08, 2016

(C) November 16, 2016 (D) April 01, 2017

What is the main interest of monopolist?

(A) Maximization of profit (B) Maximization of Commodity

(C) Perfect competition (D) Constant cost condition

The state with lowest density of population in India as per 2011 census is
(A) Meghalaya (B) Arunachal Pradesh (C) Nagaland (D) Himachal Pradesh
Demonetization was announced by Mr. Narendra Modi on

(A) 8" November 2015 (B) 8™ November 2016

(C) 8" November 2017 (D) 1% December 2017

According to the census of 2011, the literacy percentage in Tamil Nadu is
(A) 80.3 (B) 60.3 (C) 70.3 (D) 75.3

On which day the Government of India announced the High Denomination bank notes of Rs. 500
and Rs. 1000 expired?
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104.

105.

106.

107.

108.

109.

(A) 8" November, 2016 (B) 9" November, 2016

(C) 10" November, 2016 (D) 11" November, 2016

MUDRA is an acronym for

(A) Micro units development and refinance agency

(B) Multi user Digital Ranking Assessment

(C) Micro finance and union development reforming agency

(D) Multi units development and regional Agency

Which one of the following is not a feature of Indian Economy?

(A) Heavy population pressure (B) Predominance of Agriculture

(C) High density of population (D) Absence of poverty

Liberalization of economy refers to

(A) A regime in which many standard traditional public finance are abandoned
(B) Policy whereby different controls and restrictions are to be removed in Industry
(C) Take-over of a relatively weaker firm by a stronger firm

(D) Policy where by domestic producers protected from foreign competition by rising tariff walls
When was the Goods and service tax introduced?

(A) 1% June 2017 (B) 1% July 2017

(C) 1* August 2017 (D) 1% September 2017

Narasimha Commission’s report is about

(A) Reforms in Insurance Industry  (B) Reforms in Banking Industry

(C) Reforms in Tax (D) Reforms in Agriculture

Consider the following statements and choose the correct code given below:

Statement I:  Whole sale price Index is constructed and released by central statistical
organizations.

Statement II:  Consumer price Indexes are prepared and released by the office of economic advisor
Ministry of Finance.
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110.

111.

112.

113.

114.

115.

116.

117.

(A) Only I is correct (B) Only Il is correct

(C) I'and 11 both are correct (D) Neither I nor Il is correct

Global Entrepreneurship summit — 2017 held in

(A) Bengaluru (B) Cochin (C) Hyderabad (D) Chennai

Price rigidity theory was developed by whom?

(A) Paul Sweezy (B) Paul Ram (C) John Paul (D) Paul Sanjay

What was the GDP growth target fixed for Tenth Five Year Plan?

(A) 7.5% (B) 5.6% (C) 8% (D) 8.3%

Assertion (A): Industrial policy of 1991 initiated the process of liberalization of Indian economy
Reason (R):  Indian economy was integrated with the world economy in 1995

(A) (A) and (R) are correct, (R) is the correct reason for (A)
(B) (A) and (R) are incorrect, (R) is not the correct reason for (A)
(C) (A) is correct but (R) is incorrect

(D) (A) is incorrect but (R) is correct

The high yielding variety of wheat used in Green revolution was developed in
(A) Germany (B) Netherland (C) Mexico (D) Brazil
Which one of the following is not a function of the Reserve Bank of India?
(A) Banker to Government (B) Custodian of Foreign Exchange

(C) Banker’s Bank (D) Advances loan to the people
India’s food grains production in 2014 — 15 was

(A) 90.5 million tonnes (B) 252.7 million tonnes

(C) 280.5 million tonnes (D) 296.4 million tonnes

What is the minimum reserve system of RBI?

(A) Rs. 300 crores of which atleast Rs. 200 crores should be in gold

(B) Rs. 500 crores of which atleast Rs. 300 crores should be in gold

(C) Rs. 700 crores of which atleast Rs. 400 crores should be in gold

(D) Rs. 200 crores of which atleast Rs. 115 crores should be in gold
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118.

119.

120.

121.

122.

123.

124,

125.

126.

When was the Industrial Development Bank of India was started in India?
(A) 1965 (B) 1963 (C) 1964 (D) 1966
In India First Industrial Policy was announced in the year

(A) 1947 (B) 1948 (C) 1970 (D) 1977
National Policy on Skill Development was formulated by the

(A) Ministry of Human Resources development

(B) Ministry of Labour and Employment

(C) Ministry of Finance

(D) Ministry of Commerce and Industry

In which position, the India’s largest Bank, the state owned SBI ranks among the top 100 Global
banks?

(A) 95 (B) 75 (C) 55 (D) 45

Which one of the following is a basic characteristics of Indian Economy?

(A) High standard of living of the average Indians

(B) Unequal distribution of income and wealth

(C) Absence of capital formation

(D) Low density of population

Credit creation is the function of

(A) Reserve Bank of India (B) Commercial Banks

(C) Monetary Authority of India (D) Government of India

Which country in the world to use gross national happiness to measure the progress of the country?
(A) India (B) Bangladesh (C) Sweedan (D) Bhutan

How many world Heritage sites in India are recognized by UNESCO in the year 2016?
(A) 15 (B) 25 (C) 35 (D) 45

According to the RBI report, which state has the richest state in India

(A) Maharashtra  (B) Tamil Nadu (C) Andhra Pradesh (D) Uttar Pradesh
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127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

Which country is first implemented GST?

(A) India (B) France (C) Japan (D) Canada

Where is the headquarters of central pollution control board is located?

(A) Mumbai (B) Kolkata (C) Patiala (D) Delhi

Which state government will set up ‘Book Banks” in schools to provide old books to needy students?
(A) Tamil Nadu (B) Arunachal Pradesh (C) Punjab (D) Haryana

The largest number of scheduled castes are found in

(A) Punjab (B) Bihar (C) Rajasthan (D) Karnataka

During the five year plan period, annual plans were followed in the period of

(A) 1966 — 69 (B) 1970 - 71 (C) 1973 — 74 (D) 1976 — 77

The New Economic Policy for liberalization and privatization of Indian economy was implemented
in

(A) 1985 (B) 1991 (C) 1990 (D) 1999
The sectors are classified into public sector and private sector on the basis of
(A) Employment condition (B) The nature of Economic Activity

(C) Ownership of Enterprises (D) Number of workers in the enterprises
The main objective of Janani Suraksha Yojana is

(A) To reduce maternal and neo-natal mortality

(B) To reduce birth rate

(C) To reduce death rate

(D) To provide quality health care facilities

is the first state in the country to open a blood bank for cattle.

(A) Odisha (B) Maharashtra (C) Rajasthan (D) Guijarat
Which of the following is used as an atmospheric pollution indicator?
(a) Lepidoptera (B) Lycopersicon (C) Lichens (D) Lycopodium

The policy of the government with regard to its revenue and expenditure is called
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138.

139.

140.

141.

142.

143.

(A) Economic Policy (B) Fiscal Policy

(C) Monetary Policy (D) Revenue — Expenditure Policy
Per capita income indicates

(A) The wealth of the people

(B) The poverty of the people

(C) The educational level of the people

(D) The standard of living of the people

Monetary Policy is implemented by

(A) State Bank (B) Reserve Bank of India

(C) Central Government (D) State Government

The distribution of net proceeds of taxes to be shared between the Union and the States is decided
by

(A) Planning Commission (B) Finance Commission

(C) Central Government (D) State Government

Why Aadhaar Number is linked with PAN Number?

(A) To enable the Government for distribution of subsidy to the needy people
(B) To give an identity to a citizen

(C) To avoid corruption

(D) To detect the income tax payers

Which of the following tax contributed the maximum share in Tamil Nadu’s total Tax Revenue in
2013 — 14?

(A) General Sales Tax (B) Stamps and Registration
(C) State Excise Duties (D) Tax on Vehicles

What was the birth rate in India in the year 2010?

(A) 7.4 per thousand (B) 22.1 per thousand

(C) 10.1 per thousand (D) 8 per thousand
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145.

146.

147.

148.
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Consider the following statements.

Assertion (A): RBI raises the interest rates and cash reserve ratio.
Reason (R):  To control rise in prices.

(A) (A) is correct but (R) is wrong

(B) (A) is wrong but (R) is correct

(C) Both (A) and (R) are wrong

(D) (A) and (R) are correct

What is India’s rank on the 2017 Global Hunger Index?

(A) 90 (B) 100%™ (C) 10 (D) 120™

Match the following and choose the correct answer

(a) Bharat Mala 1. World’s Largest Public Work Scheme
(b) MMNREGA 2. Skill development training

(c) Rurban Mission 3. Joster research and development

(d) Atal Innovation Mission 4. To connect border areas

@ (b (@ (@
(A) 3 4 2 1
(B) 4 2 1 3
(C) 4 1 2 3
(D) 4 1 3 2
The Public Distribution System serves the purpose of
(A) Controlling deflation
(B) Supplying essential commodities at lower prices
(C) Ensuring equitable distribution of income
(D) Controlling public expenditure
The following terms join the family of “Bit coin”.

‘Ethereum, Ripple, Monero, DASH’
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149.

150.

151.

152.

153.

154.

155.

Bit coin means
(A) Fake currency  (B) Virtual currency (C) Black currency (D) Hard currency

India has signed an agreement with that would allow the two countries to automatically
share tax related information.

(A) America (B) Russia (C) Switzerland (D) Srilanka

The theme of the World Special Week celebrated from 4" October 2017 to 10" October 2017 is
(A) Exploring new world in space (B) Yoga for wellness

(C) Water and energy for inclusive growth (D) Peace, progress and prosperity

The classical economists believed in policy.

(A) Free trade (B) Industrial (C) Export and Import (D) Commerce

The Union Ministry of health and family welfare and ICMR launched IHMI on November 28, 2017.
What does IHMI stands for?

(A) India Hypertension Management Initiative

(B) India Health Management Initiative

(C) Indian Heart and Mind Care Intellect

(D) India Health Maintenance Initiative

Which commission sets up international food standard?

(A) Codex Alimentations Commission (B) Food and Agricultural Commission
(C) World Health Commission (D) L.S.1
Supply is constant in

(A) Short period (B) Very short period
(C) Long period (D) Very long period
Agricultural productivity can be measured in terms of

(A) Consumption of fertilizers and labour productivity

(B) Irrigational facilities

(C) Land labour productivity
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156.

157.

158.

159.

160.

161.

162.

163.

164.

(D) Mechanization

India lacks a strong backhaul to get a transition to 5G with in September 2017. Backhaul is a network
(A) Portal for data discrimination

(B) Connecting cell sites to central exchange

(C) Coupler for wireless data transmission

(D) Range finder for cellular consumers

Where was the Fourth World Tamil’s Economic Conference held?

(A) Coimbatore (B) Kualalumpur (C) Singapore (D) Durban
Entrepreneurship Development Programme (EDP) is associated with

(A) Eradication of illiteracy (B) To make and prove women potential
(C) To bring out the talents of women (D) Eradication of poverty

New Agricultural Price Policy was announced in the year

(A) 1984 (B) 1976 (C) 1996 (D) 1986

The birth of economics of education was announced by

(A) Marshall (B) Karl Marx (C) Schults (D) Keynes
What is the aim of Pradhan Mantri Gram-Sadak Y ojana?

(A) Provide all Weather road connectivity

(B) Provide all Weather to Tele communication connectivity

(C) Provide Food Security in all seasons

(D) Provide Education to all people

When was the ‘Industrial Finance Corporation of India” established in India?

(A) January 1, 1950 (B) July 1, 1948 (C) June 5, 1951 (D) May 1, 1950
National Agricultural policy aims at a growth rateof 9% per year.

(A) 3% (B) 4% (C) 6% (D) 8%

Which is the biggest nationalized enterprise?

(A) Bharat Sanchar Nigam Limited (B) Indian Post Department
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(C) Indian Railways (D) Oil and Natural Gas Commission

165. Identify the mismatch:

(A) White revolution - Milk

(B) Green revolution - Food grains
(C) Blue revolution - Fish

(D) Yellow revolution - Flowers

166. World’s first Block chain Bond was launched by
(A) Reserve Bank of India (B) World Bank
(C) Hong Kong Bank (D) Sate Bank of India
167. Black revolution is related to
(A) Fish production (B) Coal production
(C) Crude oil production (D) Mustard production
168.  Which of the following agricultural commodity of India gives largest in terms of export value?
(A) Tea (B) Basmathi Rice (C) Spices (D) Cotton
169.  Which of the following programme aims at the promotion of savings among rural women?
(A) Jawahar Rozgar Yojana (B) Pradhanmantri Mahila Yojana
(C) Rashtriya Mahila Kosh (D) Mahila Samridhi
170.  Which of the following policy brings 5 lakh acres under organic farming?
(A) Shyama Prasad Mukherji Rurban Mission
(B) Pramaparagat Krishi Vikas Yojana
(C) Pradhan Mantri Krish Sichai Yojana
(D) PM Fasal Bima Yojana
171.  According to 2018 — 19 budget report, India is at third rank in
(A) Purchasing Power Parity (PPP)
(B) Gross Domestic Product (GDP)

(C) Agricultural Production
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172.

173.

174.

175.

176.

177.

178.

179.

180.

(D) Foreign Direct Investment (FDI)

Which currency is recently added in the currency basket of IMF?

(A) Japanese Yen (B) Chinese Yuan  (C) Indian Rupee (D) Brazalian Dollar
Budget 2017 has proposed as the front office for issuing passport in far flung areas.
(A) Airport (B) Telegraph office (C) Post office (D) Railway station

As per 2011 census the total urban population in the state of Tamil Nadu is

(A) 27.48 million (B) 34.95 million (C) 36.04 million (D) 42.50 million

The facility announced for Senior Citizens in Budget 2017 — 2018 is

(A) Aadhar enabled smart card  (B) BHIM App

(C) Shakti Kendras (D) Pension scheme

Which district of Tamil Nadu produces the highest output of food grains?

(A) Villupuram (B) Cuddalore (C) Thanjavur (D) Nagapattinam
NREGA gives guaranteed employment for

(A) 50 days (B) 100 days (C) 150 days (D) 200 days

The concept of Goods and Services Tax (GST) was originated from

(A) Canada (B) USA (C) Britain (D) Germany

Which of the following scheme has the objective to skill 1 crore youth in the next three years?
(A) Start up, stand up (B) PM Kaushal Vikas Yojana

(C) MMNREGA (D) Deen Dayal Upadhyaay Grameen Kaushalya Yojana
Golden Handshake scheme is associated with

(A) Establishing joint enterprises (B) Inviting foreign companies

(C) Private investment in public enterprises (D) Voluntary retirement
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